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Solve 0'2'' =+− yyy  

(1)Use L'Hopital's rule 

(2)Use y2=y1u1 

(3)Use Wronskian method 

 

Sol: 

(1)  Let stey =  
    1,10)12( 2 =⇒=+− sss  
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(2)  Let stey =  
    1,10)12( 2 =⇒=+− sss  

    teuuyy 1112 ==  

    tt eueuy '' 112 +=  

    ttt eueueuy '''2'' 1112 ++=  

    0)'(2)'''2( 111111 =++−++ tttttt eueueueueueu  

     batuu +=⇒= 11 0''  

     tebaty )(2 +=   where a,b are constants 

 

(3)  Let stey =  
    1,10)12( 2 =⇒=+− sss  
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tecyy 122 ' =−  

    122 ' cyeye tt =− −−  

12 )'( cye t =−  

    212 ctcye t +=−  

    tectcy )( 212 +=   where 1c , 2c  are constants 
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